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* 1 irreducible components of dim¢ = 0, with total 30 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings
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(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?® — 442" — 12026 — 8u?® — 56u>* — 44u?® — 120u?? — 72u?* —
288u?0 — 184y — 448u'® — 240u'” — 688u!'6 — 372ut® — TT2uM — 376u!d — 784u!? —
392!t — 616u10 — 300u° — 392u® — 22007 — 196w’ — 112u® — 64u* — 52u3 — 16u> — 12u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy WO+ 4+ 4+ 3u+1
2 u +13u® + -+ 3u+ 1
C3,C8 w4 a1
& w0 —u? 4 —9u 1
Ce, C7, C9 u30+5u29+...+3u+1
€10, C11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€15 ¢ ¥ +13y% + -+ 3y +1
€2 Y0+ 9%+ 423y + 1
€3, C8 v+ 5%+ 3y + 1
C5 y30+5y29+_29y+1
€65 C7,C9 0 +419% 4+ 4+ 15y + 1
€10, C11




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol + /—1CS) Cusp shape
= 0.576972 + 0.7881721 0.12621 + 2.186061 —3.44242 — 4.001161
= 0.576972 — 0.7881721 0.12621 — 2.186061 —3.44242 4 4.001161

= 0.753269 + 0.6936561

3.64770 — 3.487471

1.74738 + 2.614421

= 0.753269 — 0.6936561

3.64770 + 3.487471

1.74738 — 2.614421

= —0.734724 + 0.7481061

5.14265 — 1.490491

4.17557 4+ 2.858101

= —0.734724 — 0.7481061

5.14265 + 1.490491

4.17557 — 2.858101

= —0.685664 + 0.8535211

4.78950 — 3.769741

3.14381 + 3.884611

= —0.685664 — 0.8535211

4.78950 + 3.769741

3.14381 — 3.884611

= —0.287305 + 0.8479591

—2.28263 — 5.273771

—6.56092 + 8.949091

= —0.287305 — 0.8479591

—2.28263 + 5.273771

—6.56092 — 8.949091

= 0.664026 + 0.8948131

2.98040 + 8.730071

—0.24401 — 8.712461

= 0.664026 — 0.8948131

2.98040 — 8.730071

—0.24401 + 8.712461

= —0.115414 4 0.8200641

—3.15838 + 1.071591

—10.31816 — 0.177591

= —0.115414 — 0.8200641

—3.15838 — 1.071591

—10.31816 4 0.177591

= 0.290049 + 0.7099881

—0.316552 + 1.3656001

—2.18848 — 5.416251

—0.316552 — 1.3656001

—2.18848 4 5.416251

= —0.911746 + 0.9401141

9.51868 — 3.357991

—1.73657 + 2.300591

= —0.911746 — 0.9401141

9.51868 + 3.357991

—1.73657 — 2.300591

—0.939027 4 0.9281551

13.7360 + 3.91651

1.75197 — 2.342281

—0.939027 — 0.9281551

13.7360 — 3.91651

1.75197 4 2.342281

= 0.935072 + 0.9379251

15.4906 + 1.59961

4.05928 — 2.157741

0.935072 — 0.9379251

15.4906 — 1.59961

4.05928 + 2.157741

= 0.922373 + 0.9599151

15.4175 + 5.22691

3.92816 — 2.386231

= 0.922373 — 0.9599151

15.4175 — 5.22691

3.92816 + 2.386231

= —0.916401 + 0.9677541

13.6047 — 10.73541

1.48227 +6.831071

= —0.916401 — 0.9677541

13.6047 + 10.73541

1.48227 — 6.831071

= 0.459289 + 0.4212771

0.49693 + 1.387081

2.54940 — 4.491421

= 0.459289 — 0.4212771

0.49693 — 1.387081

2.54940 + 4.491421

= —0.510769 + 0.1835761

—0.23650 + 2.487381

1.65273 — 3.251751
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—0.23650 — 2.487381

1.65273 + 3.251751




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1, ¢ WO +uP 4+ 3ut 1
C2 w + 130+ + 3u+ 1
c3,C8 w4+ a1
¢ ' —u* 4 —u 1
Ce6,C7,C9 w50 o 3u1
€10, C11




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,ca PO+ 13y + - 43y +1
€2 Y20+ 9y* + 423y + 1
€3,C8 YO+ 5y + -+ 3y +1
Cs yd()+5y29+729y+1
C6, C7, C9 30+ 419+ 4+ 15y + 1
€10, C11




